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Moo Girdes,

* Materials 1o be used: Concrete £, =30 N/mmn® and St. 4607600

* Applied Loads: i
In First Lare: 600 kN Egyptian Code Tractor + Filling Load =9 kN/m?
[n Second Lane: 400 kN Egyptian Code Tractor + Filling Load =2.5 kN/m? _
In Third Laae: 200 KN Egyptian Code Tractor + Filling Load =2.5 kN/m?

Other Lanes and sidewalks: F illing Load =2.5 kNfm? , Road covering = 3 kN/p?

Problem 1

The SLAB - GIRDER bridge shown in Fig. 1, have a span L= 18 m with two overhanging ends each one 2
4.5 m. The bridge consists of 5 main girders, the cross girders are spaced at 4.5 m. - ’

Problem 2
The SLAB--GIRBER bridge shown in Fig.2"'is two spans continous main girder, each span L= 20 m.

-

The bridge consists of 3 main girders, while the cross girders are spaced at 5 m.

- Itis required to give full statical calculations and desien for the following:
a- The Slabs and side walks ' - '
b- The cross girder ) ‘ ,
¢- The intermediate main girder. For this main girder use BOTH stirrups and BENT UP bars to resist
shear stresses. (DO NOT use stirrups alone). ‘

- Give complete working drawing for: : ‘
a-" The cross sections of the sl‘;a_t'lgsj____(lsga__l‘ew»1_‘;“2,,5)3,,;;md”_p_l_an3(;211@,‘_1.;_5‘0.“..,..w S ——
e b- Thecrossgirder(scalel 25) ‘
¢ Longitadinal section and cross-section of the»_ma‘ivr},“g,'}igﬁi,?.ﬁ..,S,hQ}Mi.ng“all,“re}i.nf‘o_rcement"d_.eat'a_i_-‘l_s,vgpqw_,j,;
: ----~~~?-~~-~~<dimG'HS‘iOHS"‘(Scaﬁer"I':Qﬁ‘)';’““Df‘z’z’ﬁ“él’éé‘i‘ljv’“ﬂi’éf'iiiéix"ihitim max. bending moment diagram and mopent
of resistance (BM values at 4 points are required. in each span). "~ - -
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o
= 18 m with two overhanging ends each one =
are spaced at 4.5 . S

¢- The intermediate: main oirder. For this main girder use BOTH stmups ar'd BENT UP bars 1o resist
shear stresses. ()0 NOT use stirrups alone)
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The SLAB - GIRDER bridge shown in Fig.2 | is two

spams continous main girder, each span L=20 m
The bridge consists of 3 m

ain girders, while the cross girders are spaced at S m.

- The imermediate main girder. For t
shear stresses. { 1

hlb main gxrder use BOTH st1rrups and BE\T’r UP bars o
~use stlrrups alone).
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hflvence &ne for
Reaction at Aend
S8.F envelope for
span A8
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btlvence ke for
Reaction at Aend
S.F envelope for
span A8

) c

). %60' 300000 ¢ grg‘gatos orl‘in{
)
clr
9 ]
N |

o

Ca

r

0

ﬁ.,_-.ar; ;_g )

(o. 12 4+ {:3.7 XQ) - 1328







<__)
&95\ zrs)\w cs,\su,é\ AN WP ! pp\lho)&,&ma)& e
FMLC\M‘.MJ‘M < c._x.o)i! Pl pacuD @

Ps | }y)m,._a'g?no | d’JBS -

-
— - d | U= 1 %5*3810 '51(4 a




e i R T A RN gy

Ct e p,,n&.\\.mg\ ol » L..ls-

o e == -=-=m
o . - ﬂanqejoo)&ouo
280 l : B

L~e.. R T TH ai e LEEE IR

l : L'5°° . . . -‘->+L 5°°+°8l(?-oooo) 3700

~a;, ) . i
I ] S ®m =

T D emmmempsar i bressesmpmmy

(m-\»:i 56 * 3“5 4205— ........ 4205 * ‘O 0 6?‘_____ * (3250) (a) ‘850 ‘a]

- K- ’)g; N - P -m
Qm‘n 01 /CI/ 1854,

- \890 o

Fange Jsb @uﬁ;@womﬂg

A gl s

R i R e s B S B A T RS RN R

it




.fR 420«5 xlo ) Q 919
B >(3zso>(taso>

’(’(»l Jf 3(019) - 002 01

él
B
0
G
e
D
(/\
n
O
U
3e
2
LB‘
).—»
Y
ﬁ\
»é:
U]
| V)

‘JShaOOBHg . =5t iggﬂ : .i -‘

\‘hm"- =

Nt
; . s
R NS S Y T e

R A KA Lo

T o B3 A DA G SRS SO PR L




B e s, mwwmvrwm TR
e .

& Q:I 55*109‘! 1'4??

1§ T

w\yﬂ 597 2 10° 1@ oot
Mu” w1850 '“-n--

| --'. e é >
qmsol6 s[:a 036(3_‘;‘.0?15 ‘r(/mm |

. A . :
e e e — - e —————— - o
- PR B 5 & S 5 R B R A o ramenoE——e————— 1|

e e T —————————— - e R et




I ,smuaqs,,.no,xg

21
5, wo o

Use 4bz‘ ﬁm¢lealmmm

e N et e el |

ﬂ i?,%i&SZI-UO =1 3@ '
woeor 18 So ’ - 1.6
: cl*poiwl' e

O N R S Ry %

A0k o A e B SN PR
.

Ce—dm e |
- i¢i@;‘; -

Q%Ms)

L__\\zﬁ 46w

‘é“"v’%







